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1. Pradhan Mantri Jan-Dhan Yojana’ has
been launched for

fa}

L

providing housing' loan to poor
people at cheaper interest rates

promoting  women’s  Self-Help
Groups in backward areas

(b)

{c)

promoting financial inclusion in the
country

fd) providing financial help to the

marginalized communities

2. With reference to the Fourteenth Finance
Commission, which of the following
statements is/are correct?

1. It has increased the share of States
in the central divisible pool from
32 percent to 42 percent.

2. It has made recommendations

concerning sector-specific grants.

Select the correct answer using the code
given below,

fa) 1 only

(b} 2 only

fc) Both 1 and 2

{d) Neither 1 nor 2

3. The Tortaleza Declaration’, recently in
the news, is related to the affairs of

fa) ASEAN
(b) BRICS
c/ OECD
(d) WTO
4. A decrease in tax to GDP ratio of a

country  indicates which of the
following?

1.
2.

Slowing economic growth rate

Less equitable distribution
national income

of
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Select the correct answer using the code
given below.

faj 1 only

(b} 2 only

fcj Both 1 ang 2
{d}] Neither 1 nor 2

5. In the South Atlantic and South-Eastern
Pacific regions in tropical latitudes,
cyclone does not originate. What is the
reason?
fa)
(b)

Sea surface temperatures are low

Inter-Tropical
seldom occurs

Convergence Zone

(c)
(d)

Coriolis force is too weak

Absence of land in those regions

6. Which one of the following pairs of States
of India indicates the easternmost and
westernmost State?

fa) Assam and Rajasthan

b} Arunachal Pradesh and Rajasthan
fc) Assam and Gujarat

{d) Arunachal Pradesh and Gujarat

7. Consider the following statements
regarding the Directive Principles of
State Policy :

1. The Principles spell out the socio-
economic  democracy in  the
country.

2. The provisions contained in these )

Principles are not enforceable by
any court.

Which of the statements given above
is/are correct?

{a)
(b}
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2
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1. ‘gureE sA-wR Qe Feafafee § 2 Rees

o et Al aTg ®7

fj HE S H SHEHd FH - W
I -0 98 4 5 [

b) Tos &6 ¥ ufgensh ¥ w@-wEEA@
aEl i deardn FA 5 e

(c) <m0 i fadr gamem (SRS SaRE)
&I iearied 0 % fere

(d) wifas (ahemsse) wgeEl w
e YA 0 % fog

2. degd fm amdm ¥ gl #, Frafafas st @
A #E-w1/4 T /AT
1. ™ O ferm @ § oo W
fre aven fewm 32 witem @ SRR
42 wigwa = faar R

2. 3o frew dR | ¥l A R® (FR-
afefes) Al & watua fawla
# 2

= fou e g2 = yEm = EE IW gl

faj 34 1

(b) HIA 2

(c) 132

(@) Fd1MAH2

3. 7@ @ § wewml § omd wieidsn SgEen
(et feaciam)’ fafafas § 8 Fees
oieel ¥ gt 27
{a) ASEAN
{b) BRICS
() OECD
(d WTO

4. T 2w A, W E GDP F @ § FH w0
gferd @t 87
1. il gig- ol @

2. U WM # WA e (efmEE)
feram
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i fg Ty Fz B AR I g
(@) & 1

(b) FA 2

cj 1 323

(d AM1IAH2
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(c) W 99 wea=a o B ¢

(@) 398§ yfir e A g
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fa) FEE IR TN
(b) ITEEE WS IR USHATE
() ¥FEH A TR
(d) 3TEoTE 9o IR TR

7. =g & Aifq F fFRys el ¥ 4R 1§ Fafataa

] W T Hife -

1. A 7= I F wwfas-anfds Awas 6
T T B

9. W el A Fade svey Tl e
T T (TTRRiTEe) T8

39wl § § FH-H/R G B /e

(a) Fad 1

{b) FaHA 2

(cj 1 @23

(@ F@13MIEA2
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In the ‘Index of Eight Core Industries’,
which one of the following is given the
highest weight?

faj Coal production
(b} Electricity generation
{c) Fertilizer production

{d) Steel production

Which of the following National Parks is
unique in being a swamp with floating
vegetation that supports a rich
biodiversity?

(a) Bhitarkanika National Park
{b) Keibul Lamjao National Park
fc) Keoladeo Ghana National Park
d) Sultanpur National Park

Which of the following statements is/are
correct regarding National Innovation
Foundation-India (NIF)?

1. NIF is an autonomous body of
the Department of Science and
Technology under the Central
Government.

2. NIF is an initiative to strengthen
the highly advanced scientific
research in India’s premier
scientific institutions in collaboration
with highly advanced foreign
scientific institutions.

Select the correct answer using the code
given below.

{a) 1 only

fb) 2 only

fc) Both 1 and 2

(d} Neither 1 nor 2

B-AQN-O-JUA/63A
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11. What can be the impact of excessive

inappropriate use of nitrogenous
fertilizers in agriculture?

1. Proliferation of nitrogen-fixing
microorganisms in soi! can occur.

2. Increase in the acidity of soil can
take place.

3. Leaching of nitrate to the ground-
water can occur.

Select the correct answer using the code
given below.

{fa) 1 and 3 only
{b} 2 only

{c¢) 2 and 3 only
{d) 1, 2 and 3

12. With reference to the International Union

for Conservation of Nature and Natural
Resources (IUCN) and the Convention
on International Trade in Endangered
Species of Wild Fauna and Flora
(CITES), which of the following
statements is/are correct?
I. IUCN is an organ of the United
Nations and CITES is an

international agreement between
governments.

2. IUCN runs thousands of field
projects around the world to better
manage natural environments.

3. CITES is legally binding on the
States that have joined it, but this
Convention does not take the place
of national laws,

Select the correct answer using the code
given below.

fa) 1 only

(b) 2 and 3 only

fc) 1 and 3 enly

{d} 1,2 and 3

www.jkchrome.com
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fc) FEAALE TFT I TR
(d) GEaFR FAA W

10. TP Javadd SfeR-sma  (YeME eEH
wREIE-3EEn) (NIF) % « & fFefafaa i |
Fr-71/R B GE B/87

1. NIF, ¥2E7 W % avA fagm ol
dreifrh R ) o Wy 9w gl

2. NIF, 39 39d fRM e deenst
¥ weam 4 wwa H wgE (i)
Imfs et § = 39w awmieE
HIEYH F WS F A TF T 8

19 fiv T g w5 W W A s i)
(@) FIA 1

{b) A 2 )

{c) 1 3R 2 A

(d A@1mIA2
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CITES TEH % =4 a0 F 1 3)

2. IUCN, it wafenm & S8 Fa-9d &
g, fw W 4w SE-tiEeE
<l R 1

3. CITES 37 U591 W 39 €9 4 &g ¢
st 3o it gu ¥, af @ s
st fafimt = v 7 S R

AR T Fz F w@m = FH I g
(a) Fad 1

(b) Faa 2 3R 3

fc) T« 1 3N 3

(d 1,23W3
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13. The Fair and Remunerative Price {FRP) of
sugarcane is approved by the

fa) Cabinet Committee on Economic
Affairs

(b} Commission for Agricultural Costs
and Prices

c) Directorate of Marketing and
Inspection, Ministry of Agriculture

(d) Agricultural Produce Market
Committee

14. What explains the eastward flow of the
equatorial counter-current?

fa) The Earth’s rotation on its axis

{b} Convergence of the two equatorial
currents

(¢} Difference in salinity of water
{d} Occurrence of the belt of calm near
the equator

15. Consider the following pairs :

Place of Pilgrimage Location
1. Srisailam :  Nallamala Hills
2. Omkareshwar : Satmala Hills
3. Pushkar : Mahadeo Hills

Which of the above pairs is/are
correctly matched?

fa) 1 only

{b) 2 and 3 only

fc¢) 1 and 3 only

{d) 1,2 and 3

16. With reference to Rowlatt Satyagraha,
which of the following statements is/are
correct?

1. The Rowlatt Act was based on the
recommendations of the ‘Sedition
Committee’.

B-AQN-O-JUA/63A
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2. In Rowlatt Satyagraha, Gandhiji
tried to utilize the Home Rule
League.

3. Demonstrations against the arrival
of Simon Commission ceoincided
with Rowlatt Satyagraha,

Select the correct answer using the code
given below,

fa) 1 only

fb) 1 and 2 only
fc} 2 and 3 only
fd} 1,2 and 3

17. Among the following, which were
frequently mentioned in the news for
the outbreak of Ebola virus recently?
(@)  Syria and Jordan
(b} Guinea, Sierra Leone and Liberia
{¢) Philippines and Papua New Guinea
{d) Jamaica, Haiti and Surinam

18. With reference to 1ly ash’ produced by
the power plants using coal as fuel,
which of the following statements is/are
correct?

1. Fly ash can be used in the
production of bricks for building
construction.

2. Fly ash can be used as a
replacement for some of the
Portland cement contents of
concrete.

3. Fly ash is made up of silicon
dioxide and calcium oxide only,

. and does not contain any toxic

¢ elements.

Select the correct answer using the code

given below.

{a) 1 and 2
{b) 2 only
fe} 1 and 3
{d} 3 only

www.jkchrome.com
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13. ™ # 34 ws ewEe FEE (FRP) &
Frfafiaa § A %R agaRa v/ 27
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(b) FaH 2
fc 13Mm3
(d) +E 3
[P.T.O.
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19. With reference to ‘dugong’, a mammal

found in India, which of the following
statements is/are correct?

1. Itis a herbivorous marine animal.

2. It is found along the entire coast of
India.

3. It is given legal protection
under Schedule I of the Wildlife
(Protection) Act, 1972,

Select the correct answer using the code
given below.

faj 1 and 2

(b) 2 only

f¢g 1 and 3

(d) 3 only

20. Who of the following was/were economic

8 www.jkchrome.com

critic/critics of colonialism in India?
1. Dadabhai Naoroji

2. G. Subramania lIyer

3. R. C. Dutt

Select the correct answer using the code
givent below.

{a) 1 only

) 1 and 2 only

fe; 2 and 3 only

{d} 1,2 and 3

21. Which one of the following issues the

‘Global Economic Prospects' report
periodically?

fa) The Asian Development Bank

(B} The European Bank for
Reconstruction and Development

{¢) The US Federal Reserve Bank
{d} The World Bank

B-AQN-O-JUA/63A
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22. When the Reserve Bank of India reduces

the Statutory Liquidity Ratio by 50 basis

points, which of the following is likely to

happen?

{a) India’s GDP growth rate increases
drastically

(b} Foreign Institutional Investors may
bring more capital into our country

{c) Scheduled Commercial Banks may
cut their lending rates

{d) It may drastically reduce the
liquidity to the banking system

23. With reference to the use of nano-

technology in health sector, which of the

following statements is/are correct?

1. Targeted drug delivery is made
possible by nanotechnology.

2. Nanotechnology can largely
contribute to gene therapy.

Select the correct answer using the code

given below.

fa) 1 only

(b} 2 only

fc) Both 1 and 2

{d) Neither 1 nor 2

In India, markets in agricultural

products are regulated under the

fu} Essential Commodities Act, 1955

(b) Agricultural Produce Market
Committee Act enacted by States

fc} Agricultural Produce (Grading and
Marking} Act, 1937

({d) Food Products OCrder, 1956
and Meat and Food Products
Order, 1973

25. Which one of the following is the national

aquatic animal of India?
fa) Saltwater crocodile
{b} Olive ridley turtle
{c) Gangetic dolphin
{d) Gharial

www.jkchrome.com
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faj 132 el § FH 30 Tl &
(b) A 2 ' 23. Wrem ¥ § FRFEE 39 F =y 1,
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) 1. e ¥ T wEe e e
(@) &3 T (2R g RfER) e ww R
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20, Fofafas & @ @9, wa § wfRwEr =1/% 2. WS F 3R (S ) § s
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3. 3Ro Wo &q (b) FHIA 2
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(a) Uil o o 25, T=fafaa # ¥ FR-91 T, aHa w1 T Jef
(b) Rrdra gAfiEin et R &% (e arft 27
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(e} Fo TWo Heww Ao I (c) T H e
(d) g s= (d) AT
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26. With reference to Congress Socialist 29. Which of the following brings out the

Party, consider the following staternents :

1. It advocated the boycott of British
goods and evasion of taxes.

2. It wanted to establish the dicta-
torship of proletariat.

3. It advocated separate electorate for
minorities and oppressed classes.

Which of the statemnents given above
is/are correct?

30.

fa) 1 and 2 only
(b) 3 only

fc¢g 1,2 and 3
{d} None

2%7. Consider the following statements :

1. The Rajya Sabha has no power
either to reject or to amend a
Money Bill.

2. The Rajya Sabha cannot vote on
the Demands for Grants.

3. The Rajya Sabha cannot discuss
the Annual Financial Statement.

Which of the statements given above
is/are correct?

{fa) 1 only

fb) 1 and 2 only

(d) 1,2 and 3

28. The Govermnment of India Act of 1919
clearly defined

{a) the separation of power between
the judiciary and the legislature

{b} the jurisdiction of the central and
provincial governments

{c} the powers of the Secretary of State
for India and the Viceroy

{d} None of the above

B-AQN-O-JUA/63A © 10
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‘Consumer Price Index Number for
Industrial Workers™?

{a) The Reserve Bank of India

{b) The Department of Economic
Affairs

{¢/ The Labour Bureau
{d] The Department of Personnel and
Training

In the context of modern scientific
research, consider the following
statements about IceCube’, a particle
detector located at South Pole, which
was recently in the news :

1. it is the world’s largest neutrino
detector, encompassing a cubic
kilometre of ice.

2. It is a powerful telescope to search
for dark matter.

3. It is buried deep in the ice.

Which of the statements given abaove
is/are correct?

{a) 1 only

{b) 2 and 3 only

{c} 1 and 3 only

d 1, 2 and 3

fc) 2 and 3 only 31. The terms ‘Agreement on Agriculture’,

‘Agreement on the Application of
Sanitary and Phytosanitary Measures’
and ‘Peace Clause’ appear in the news
frequently in the context of the affairs
of the

{a) Food and Agriculture Organization

fb) United Nations Framework
Conference on Climate Change

{c} World Trade Organization

{d) United Nations Environment
Programme

www.jkchrome.com
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() 1,233
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Agriculture)’, ‘Uitz i R Yeimm AT
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(Peace Clause]’ = W wEEN ° s
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(@) W e R e

(b) TER UWREdA W TGE TG FH
e

fc) Tau =M gmea
(d) I TF G0 FRHH

i P.T. O.
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32. With reference to ‘Near Field Communi- 35. Consider the following pairs :
cation (NFC) Technology’, which of the Medieval Indi Pr Reai
following statements is/are correct? € Ie.svtat naan esent Region
ate
1. It is a contactless communication
technology that uses electromagnetic 1. Champaka : Central India
radio fields. 2. Durgara : Jammu
2. NFC is designed for use by devices 3. Kuluta . Malabar

which can be at a distance of even
a metre from each other.

3. NFC can use encryption when
sending sensitive information.

Select the correct answer using the code
given below.
fa}] 1 and 2 only
() 3 only
fc¢} 1 and 3 only
{d} 1, 2 and 3
33. The area known as ‘Golan Heights’

sometimes appears in the news in the
context of the events related to

{a) Central Asia

(b} Middle East

fc) South-East Asia
{d] Central Africa

34. Convertibility of rupee implies

into gold

{b) allowing the value of rupee to be
fixed by market forces

{c¢) freely permitting the conversion
of rupee to other currencies and
vice versa

{d} developing an international market
for currencies in India

B-AQN-O-JUA/63A 12
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Which of the above pairs is/are
correctly matched?

{faj 1 and 2

{b) 2 only

fc} 1and 3

fd} 3 only

36. Consider the following rivers :

1. Vamsadhara
2. Indravati
3. Pranahita

4. Pennar

Which of the above are tributaries of
Godavari?

faj 1,2 and 3

(b) 2,3 and 4

fcg 1,2and 4

{d} 2 and 3 only

fa) being able to convert rupee notes 37. When a bill is referred to a joint sitting of

both the Houses of the Parliament, it
has to be passed by

fa) a simple majority of members
present and voting

{b} three-fourths majority of members
present and voting

{c/ two-thirds majority of the Houses

\(d} absolute majority of the Houses
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32, ‘Tz & g=n (fee fieg wrgeea) (NFC) 35. Frfafas gt w famr Hif

Tafeh’ % w=d #, fefifa st 3 @
FH-T1/4 wE 2/37

HEgEIA YR FdaE 89

g
1. 9% U queded @on e @, @ R R
g e & @ 3w wl :
‘;@ 2. Fn LY
2. NFC 34 giwdl (feamdw) g 3w & 3. < : AR
fore, srfeefra fven 7 @, St @@ @ s gt § & F-m/A oh gk /A0
w e H g o R R ww § @ 12
3. TITEhE gEN Y ¥ NFC S
() 1 I FGHA B (b) ¥F=W 2
3 Ry T 52 @ W ad IR g © 133
fa) el 1 3R 2 (d) e 3
) w3 36. Fr=fafige afEl w faem i
fc) Fad 1 3R 3 s
d 1,23R3 2.
3. ot
33, ‘Mo TEE % AW Y W WW aen 89 4 W
ﬁw-mmm%? e T # ¥ FA-H el B wErE Al 27
fa} T TR fa 1, 23R 3
p) 7@ (ke &) (b) 2,334
{c) afm-ud ufirm c) 1,234
(d) T3 TR (d) hae 2 3 3

34, ¥93 & ghadaa § w0 ol 27

(@) TR % A2 F TTE G WH T EFN

(b) ¥H F Aed H aWR A wRE TR
fruffa 83 3

() T = 3= gt § ol = gt |
T & afEfda +Q 6t T w99 eEm
WG F

(@) v # goe & fae s am
ferrftrg '
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Tt e Qw) frr o &, o 3@ fRess
g0 wiiee TR @ e R7

(q) 39fSra dwn 79 3 AE HER] W HER
g

(b) IU™E qA HA | AW wew H
i-<herd g

fc) W w1 A-Tererd =gwa
(d) | F U TEH
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38. Which one of the following regions of
India has a combination of mangrove
forest, evergreen forest and deciduous
forest?

fa} North Coastal Andhra Pradesh
{b) South-West Bengal

{c) Southern Saurashtra

{d} Andaman and Nicobar Islands

39. Which of the following kingdoms were
associated with the life of the Buddha?

1. Avanti

2. Gandhara
3. Kosala

4. Magadha

Select the correct answer using the code
given below,

{fa} 1,2 and 3
{6 2 and 3 only
fcg 1, 3 and 4
fd) 3 and 4 only

40. Which one of the following is associated
with the issue of control and phasing
out of the use of ozone-depleting
substances?

{a) Bretton Woods Conference
{b} Montreal Protocol

{¢) Kyoto Protocol

{d) Nagoya Protocol

41. Consider the following :
The armival of Babur into India led to the

1. introduction of gunpowder in the
subcontinent

2. introduction of the arch and dome
in the region’s architecture

3. establishment of Timurid dynasty
in the region

B-AQN-O-JUA/63A
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Select the correct answer using the code
given below.,

fa) 1 and 2 only
fb) 3 only

f¢; 1 and 3 only
{d 1,2 and 3

42. The Government of India has established

NITI Aayog to replace the

fa) Human Rights Commission
(b} Finance Commission

{c} Law Commission

(d) Planning Commission

43. What is Rio+20 Conference, often

mentioned in the news?

{a) It is the United Nations Conference
on Sustainable Development

(b) Tt is a Ministerial Meeting of the
World Trade Organization
fc} 1t is a Conference of the Inter-

governmental Panel on Climate
Change

{d) 1t is a Conference of the Member
Countries of the Convention on
Biological Diversity

44. Consider the following statements :

1. The Executive Power of the Union
of India is vested in the Pritne
Minister.

2. The Prime Minister is the ex officio
Chairman of the Civil Services
Board.

Which of the statements given above
is/are correct?

fa) 1 only

{b) 2 only

fc} Both 1 and 2

(d) Neither 1 nor 2
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38, “ra % fFrefafas & ¥ 4 fre o #, fom

T, HEGU 3 i quiurd S o e 27
(a) T A Y WA

(b) wHEm-giEm @M

(c) wfemft wharg

(@) F=aR IR FEr g

39. fr=faflaa Tl @ fFw oy g8 3 R

g q?

1. 3=
2. TFER

3. wEd

4, WY

F2 R T e W @M W wE TR FHY
fagj 1, 23R 3

(b) ¥aA 2 3R 3

fc) 1,33 4

(@) Faa 3 3K 4

40. frfaflga § ¥ F-w @, AN | @

F @ T2t ¥ A W R N iR 3R
JEg, 9§ wE-aE W (Wi oase) &
R Y g 7

(@) 3 IgE TRIEH
(b) WH=ATA TEHS

41, Tr=fafgg w fiem R

T % HRE 3§ ¥ F HerEaey

1. IYHEEY § w6% F I A YA

2, Fa &3 6 s 1 gua AJR e
A % A B

3. W &7 § ol (Rmir) ussw wfia
7T
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= g e g w1 wEm W IR gR
faj e 1 3R 2

(b) FaEA 3

(c) aa 133

(d 1,233

42. W@ @R 3 A (NITD smEm R s
- Fefafae § @ s e o % foe 7

(a) e ATFR A
(b) T smam
fc) ity samam
(d) T AT

43. 3 R YU wWEny # o aren fai+20
(Rio+20) T 70 27

fa} TR UTONY e (TRYEE SFARR) W
Tgh TE WTH 3

() g8 fag =mm @ i THaffaE
(i) 35 §

(c) W& SeErg dfEr W AR-TER e
G-t e o R 3W) =
e 2

(d) ¥8 %a ffsum w F<w F wew
=1 gem B

44, frafafaa st o fmm fiflg .
1. wRE™ T # FEaE vy yuEs §
fem 21
2. wume, fafee @ 9 w1 w@F sy
B 21

9 ol A} FE-T /B T BfE
@) FFe 1

(b) HaH 2

c) 13 2

(d AN 1MIAH2
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45. The term ‘Goldilocks Zone’ is often seen
in the news in the context of

fa) the limits of habitable zone above
" the surface of the Earth

(b} regions inside the Earth where
shale gas is available

fc) search for the Earth-like planets in
outer space

{d) search for meteorites containing
precious metals

46. Who of the following organized a march
on the Tanjore coast to break the Salt
Law in April 19307

(a) V. O. Chidambaram Pillai
(b) C. Rajagopalachari
(¢/ K. Kamaraj

{d} Annie Besant

47. Who of the following founded a new city
on the south bank of a tributary to river
Krishna and undertook to rule his new
kingdom as the agent of a deity to whom
all the land south of the river Krishna
was supposed to belong?

fa] Amoghavarsha 1
{b) Ballala II

{¢/ Harihara 1

(d} Prataparudra II

48. Consider the following statements :

1. The first woman President of the
Indian National Congress was
Sarojini Naidu.

2. The first Muslim President of the

Indian National Congress was
Badruddin Tyabyi.
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Which of the statements given above
is/are correct?

fa) 1 only
(b} 2 only
fc; Both 1 and 2

{d) Neither 1 nor 2

49. Which of the following statements

regarding ‘Green Climate Fund' is/are
correct?

1. I is intended to assist the
developing countries in adaptation
and mitigation practices to counter
climate change.,

2. It is founded under the aegis of
UNEP, OECD, Asian Development
Bank and World Bank.

Select the correct answer using the code
given below.

{a} 1 only

{b) 2 only

f¢/ Both 1 and 2

{d) Neither 1 nor 2

50. Indira Gandhi Prize for Peace, Disarma-

ment and Development for 2014 was
given to which one of the following?

fa)j Bhabha Atomic Research Centre

(b} Indian Institute of Science

(¢} Indian Space Research Crganization

(d} Tata Institute of Fundamental

Research
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45, Tedicidd ¥R (Goldilocks Zone) ¥
Frafafaa # | frad a3 oK Ty=Rl A
@ o w7

(a) VT8 % FW g rved e

(b) 9= F st W TR &, Rk 9w AW
I B

fc) =re =Ry § geahl IR 18 hi @
(d} TS wiget ¥ gw Ieue

46. 7 A P oW 1930 ¥ T9F I dSA ¥
o i e W O e wnfea feean it

(a) o 3o Fgmm 3
(b) Hto TR
{c) o FHIE

(d) TS

47, wit { fem wom T A wes T F Aol
& R TH TR H wen f shmBTa F
TR F w1 A 3 T TS W
F1 Tfaea foar fvew R 8 9 9 oo fe
o 7 & i g o 30 g i 27

{a) FHHEY W
(b) =g T
{c) T W
(d) TR fedf

48. Frafefas wuat w R it .
1. wrdE 1 Fiw H gum afgen stwae
wafseh amag ot

2. yrd mia 0w % wem giim sew
TEEH TR W 9
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e weEl § | FA-T/E T8 R/
fa) Fad 1

(b) FEE 2

fc) 13 23

(@ FdmidARad2

‘e werarg i (9 Fomgie ve) % AR A

Frafaiad § | SH-691/8 w9 98 §/37
1. = fymmeie 3+ oy afEd =

yEfEl § ged 33 F v A =1 R

2. ¥ UNEP, OECD, Uimn fawm =
N fan 9% % dwEuE & enfva fEn
™R

R o o F2 F AW R /G IR g
(@) FFA 1

(b) FeE 2

fc) 13 2em

(@) Ad13mad2

50. 8 2014 ¥ fom o «fdf wix, e

3R T goerR frafafias § @ fem @ =
femn et

(@) TN TEAT] STTEEH F3
(b) W g s
fc) VIR 3Ry TIEYN e

(d} T LG ATHUH HRIH
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51. With reference to the Cahinet Mission,
which of the following statements is/are
correct?

1. It recommended a federal
government.

2. Itenlarged the powers of the Indian
courts,

3. It provided for more Indians in
the ICS.

Select the correct answer using the code
given below.

{a) 1 only

(b} 2 and 3

f¢g 1 and 3

{d} None

52. Which one of the following National Parks
has a climate that varies from tropical to
subtropical, temperate and arctic?

{a) Khangchendzonga National Park
{b) Nandadevi National Park

{c) Neora Valley National Park

{d) Namdapha National Park

53. Amnesty International is

fa)] an agency of the United Nations to
help refugees of civil wars

{b) a global Human Rights Movement

fc} a non-governmental voluntary
organization to help very poor
people

{d) an inter-governmental agency to
cater to medical emergencies in
war-ravaged regions

B-AQN-O-JUA/63A

18 www.jkchrome.com www.jkchrome.com

18

54. With reference to the art and archaeo-
logical history of India, which one
among the following was made earliest?

(a) Lingaraja Temple at Bhubaneswar
(b} Rock-cut Elephant at Dhaulj

(¢ Rock-cut Monuments at
Mahabalipuram

(d} Varaha Image at Udayagiri

5§5. With reference to Indian history, which
of the following is/are the essential
element/elements of the feudal system?

1. A very strong centralized political
authority and a very weak provincial
or local political authority

2.  Emergence of  administrative
structure based on control and
possession of land

3. Creation of lord-vassal relationship
between the feudal lord and his
overlord

Select the correct answer using the code
given below.
fa) 1 and 2 only
() 2 and 3 only
{c; 3 only
{d 1,2 and 3
56. BicCarbon Fund Initiative for Sustain-

able Forest Landscapes’ is managed
by the

fa) Asian Development Bank
(b} International Monetary Fund

(¢} United Nations Environment
Programme

{d) World Bank
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s1. ¥Rz B ¥ wed 3 Pofie 3 R
F-91 /W T wh B/
1. T U g e % fe famite R

2. TEY SREE =EeE A wiean e
f&Fam

3. @y ICS ¥ i iy Wt % fag
37Ey T

413 R e g 1 wEm W wE IR g
(a) ¥4 1
(b) 23R 3
fc) 1#HN3
(@) rE T

52, frfafaa derr wl § | few & 6 wioey
IR @ 3d, wide i Ak T
yiafia 2t 27

(@) FHEAS A T
(b) TR LS AR
{c) = A e T
(d) TSR W 9T

53. TR SR w0 87

(@ TEGE % woniigl H TR % g wgw
TE 6 TH AR

(b) TamsTd ArE AR SR

) g Bdq sl & TR F fow @
M -werit wfess A

[d) 3& ¥ T g &S §  fafeen

IEfEmaE] W @ wH F Y TE
FR-TEHN] 3THEm -
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54. WG F Fa1 IR quaItE s % w1 4,
frefvfes 3 @ B9 = = ol wge o
e T ot

(a) - T fommest mfeey
(b) el fem Nema w4t

(c) THeEfa fem depa S
() et feem awe qfd

55. wdla frm ¥ w=d A, fafofae & @
FH-/¥ gEA R w1 /F e o
B/E7
1. oea WRF $2 TedieE we iR

3fedd gael W ST TAFTE TSI
S|

2. oy % frim g @i ® mtE
TR §ET %1 399

3. AW ol 39 Afttd % <= WH-aE
Y & &

= fow g e W R E I A
(a) Faa 1 3R 2

(b} W@ 2 3N 3

fc) Had 3

[d 1,23M3

Sgwh@ (BioCarbon Fund Initiative for
Sustainable Forest Landscapes) %I

warud Frfafas % § #9 @wm 27
(a) iy fowm o=

(b) FES G HIN

(c) g T wATRY FrEA

(@) faw S

56.

[P.T.O.

www.jkchrome.com

www.jkchrome.com



20 www.jkchrome.com

www.jkchrome.com

57. India is a member of which among the

following?

1. Asia-Pacific Economic Cooperation

2. Association of South-East Asian
Nations

3. East Asia Summit

Select the correct answer using the code
given below.

(a)
(b)
fc)
(d)

1 and 2 only
3 only
1,2 and 3

India is a member of none of them

58. In India, the steel production industry
requires the import of

(a)
()
{c)
{d)

fa)

(b)

fc)

{d)

20 www.jkchrome.com

saltpetre
rock phosphate
coking coal

All of the above

59. The provisions in Fifth Schedule and
Sixth Schedule in the Constitution of
India are made in order to

protect the interests of Scheduled
Tribes

determine the boundaries between

States

determine the powers, authority
and responsibilities of Panchayats

protect the interests of all the
border States

B-AQN-O—JUA/63A
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consider the following statements :

1. The Department of Revenue is
responsible for the preparation of
Union Budget that is presented to
the Parliament.

2. No amount can be withdrawn from
the Consolidated Fund of India
without the authorization from the
Parliament of India.

3. Al the disbursements made from
Public Account also need the

authorization from the Parliament
of India.

Which of the statements given above
is/are correct?

{a) 1 and 2 only

fb) 2 and 3 only

(c/ 2 only

(d) 1,2 and 3

custodian of the Constitution of India?
fa) The President of India

{b) The Prime Minister of India

{c) The Lok Sabha Secretariat

{d) The Supreme Court of India
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57. wa Ffafias 1 4 feam /fee gew 27

59, Wid F whum § giad agga v =t aggH

1. fw-ww oide wwEm (-
Yfuftew AR RITREE)

2. Wem-gd wReH W oW WRA
(TRfYTEH 3% WreY-{6 UREA J9)

3. qf whm BrR wiem (§R dRE
afiz)

= fog o g2 @ @ w wd I g
(a) o< 1 3R 2

(b) Faa 3

fc) 1,233

(d) a7 | el @ wew aff

58. WA ¥ TWE IWEA Jam & Frefafea § @

forgas e R amen W §7
fa) I

(b) 9t wighe (U wieke)
fc) FrEeRTl (W) B
(d) ¥ Wi

¥ Iyery Tfafigs § & Rrafa fee e &7

() SRR Sl % fadt ¥ wmew &
ferg

(b) T % ra Fed ¥ faufor & fag

fcj TEWmI  H  WheEt, WER @l
It & fufta & fom

(d) st @adl et ¥ Rt ¥ dw R
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60. 8 F TR (g TETR) F wed 3,

fresfafaa wul w faam $if

1. e fawm, dug ¥ wega g oW I
FEE G = TIR T F fow IaeErh
Rl

2, HRA I TEg F WitEw (REST) &
o =8 w1 v Y gfw Ay 3 Faen
& o "

3. o d@ ? fe Sm A wl gl

(fegudiien) & fou off ye ) wog &
ity $ HTEvERdl Bt 2

I FoFl § W BH- /R g 2/
(@) Fa& 132

(b) Faw 2 33

[c) FaEA 2

(@ 1,23R3

(Fefea) 87

{a) W 1 TEIR
(b) IE 1 qHHE
(c) T T WEEEE

(d) 9T T IHH A
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62. Consider the following statements :

1.

The Accelerated Irrigation Benefits
Programme was launched during
1996-97 to provide loan assistance
to poor farmers.

The Command Area Development
Programme was launched in
1974-75 for the development of
water-use efficiency. '

Which of the statements given above
is/are correct?

Select the correct answer using the code
given below,

fa) 1 only
() 2,3 and 4
fc} 1 and 3

f{dl 1,2 and 5

65. Basel III Accord’ or simply Basel IIT’,
oftenn seen in the news, seeks to

fa) develop national strategies for the
conservation and sustainable use
of biological diversity

{fa) 1 only fb) improve banking sector’s ability
) 2 only to degl with ﬁngncnal a'nd .
economic stress and improve risk
fc) Both 1 and 2 management
{d) Neither 1 nor 2 fc) reduce the greenhouse gas
emissions but places a heavier
) . . ) burden on developed countries
63. The Genetic Engineering Appraisal
Committee is constituted under the {d) transfer technology from developed
countries to poor countries to
(a) Food Safety and Standards Act, enable them to replace the use of
2006 chlorofluorocarbens in refrigeration
{b) Geographical Indications of Goods with harmless chemicals
(le(;g;stratnon and Protection) Act, 66. Consider the following statements :
1. The winds which blow between
{¢) Environment (Protection) Act, 1986 30° N and 60° $ latitudes through-
(d) Wildlife (Protection) Act, 1972 out the year are known as
westerlies.

64. In the Mekong-Ganga Cooperation, an 2, Tl}e moist.eu'r rpasses that cause )
initiative of six countries, which of wm_ter ramns - in North-Western
the following is/are not a participant/ Tegion " of India are part of
participants? westerlies,

1. - Bangladesh Whn:h of the statements given above
is/are correct?

2. Cambodia
fa) 1 only

3. China (b) 2 only

4.  Myanmar fc; Both 1 and 2

5. Thailand {d) Neither 1 nor 2
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62. fr=fafan wud | fFER Al

1. w@hm Rl @w wEEe 199697 #
nﬁa%mﬁaimmwwm@
% forg sy foma T 21

5. FaiE & faem wRER 1974-75 §
Fei-IEm ey % fom F fom g
o T A

oG wud § ¥ FR-A1/R WE R/
{a) Fad 1

(b} =aE 2

(c) 1322

@ Fd1dRAEH 2

63. Shfw wifafn she afifh = ==
frafoafea & 4 fras ofm fen w7

() ET GaN T T AulEE, 2006

(b i ¥ e sved (e ok
wgm) sffem [Emies e
A TeE (FrEm T dRew) W,
1999

(c) At (daon) sifafam, 1986
(d) T e (weo) sfufrm, 1972

64. DETI-TN wEEW #, W °: | A WA 3,
frafeRea § 4 SW-m/A T gfewrh w6

B/37
1. e
2. IS
3. €.
4. T™MER )
5. S
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F R g g T W W FE@ IR A

! (@) FEH 1

(b) 2,3 %R 4
f¢) 133
(d) 1,23W5

65. a9ERl § Wrg: A aren ‘9w (1l (Basel 1)

g’ a1 v we) § " 1p°

@ ¥ fofww % wem i g
(wde) swam % fon i ettt
frfid 0 o T W 8

(b) & e %, frdm s el TwmEl
AW % e @ I FR aw
MNfEd T B I FE T TG FH@A

?

fc) THEEE i\ IEEH F B TR F
w1 @ g forrfem 2 m s Wl
g T R

(d) Tl 2 @ fda 2w+ deifE %
A T YA FA & A o wEied §
TgE BN 9 aERegEER
TRl W F W S

66. T=fiRad syl W e Hifd -

1. R af 30° N 3R 60° S R * H=
T T wEd wgen T (JeeEds)
FEaT! ¢

2. WG ¥ Fae-ufsl &= § il avl
an el o Ay wefodl (Wise T
WA TN T % W

IR FuA A d PR/ 9 B8
{fa) FEa1

(b} HIA 2

fc) 132

@ AM13Mmad2
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67. With reference to ‘Indian Ocean Rim 70. Tides occur in the oceans and seas
Association for Regional Cooperation due to which among the following?
(IOR-ARC)’, consider the following
statements : 1. Gravitational force of the Sun
1. It was established very recently in 2. Gravitational force of the Moon

response to incidents of piracy and
accidents of oil spills. 3. Centrifugal force of the Earth

2. Itis an alliance meant for maritime
security only. Select the correct answer using the code

given beilow,
Which of the statements given above

is/are correct? fa) 1 only )
fa) 1 only {b) 2 and 3 only .
b) 2 only
fc} 1 and 3 only
fc Both 1 and 2
{d) Neither 1 nor 2 (d) 1,2 and 3
68. Which one of the following movements . . o
has contributed to a split in the 71. In w_hlch of the folloxymg activities are
Indian National Congress resulting Indian Remote Sensing (IRS) satellites
in the emergence of ‘moderates’ and used?
‘extremists™

1.  Assessment of crop productivity
{a) Swadeshi Movement

2. Locating grcundwater resources
(b) Quit India Movement

fc) Non-Cooperation Movement 3. Mineral exploration

{d} Civil Disobedience Movement 4. Telecommunications

. L . 5. Traffic studies
69. In a particular region in India, the local

people train the roots of living trees

into robust bridges across the streams. Select the correct answer using the code

As the time passes, these bridges given below.

become stronger. These unique Qliving ’
root bridges’ are found in fa) 1, 2 and 3 only

{a) Meghalaya
{b) Himachal Pradesh

(b) 4 and 5 only

{¢) Jharkhand fc) 1 and 2 only
(d) Tamil Nadu (@ 1,2 3,4and5
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anm T Eifee W OFm RRifeEH

(IOR-ARC)] ¥ w=f #, fr=feifiga #adl W

'Pq’ﬂ'l'('éﬁﬁlq:

1. 3wl e 3w w8 H wR s ER
f wenadl o e Hftena (dEd
fww) & gdeel 3 wfifrresa &
T 3

2. TE T U A R S Faw agd men 8
B

T oAl @ wE-a/R w3/

{a) FaE 1

{b) FaT 2

fe) 1 3R 2 e

(@ AR 13MAF2

68. ffiRae # A fFw er<iem &% SR 9RAA

T 7@’ AR T T I IgHE ga?
(q) TR IM=eM

fb) WA BIE M=o

fe) FTEEEN HRIeH

(d) aFRFa s REm

69, Y@ ¥ wF fadm gm ¥, wrfm @ Hifm gal
# € F AgEET T TR TOYT F IFR-IN
e qo 3§ FURg W W § SR- e
T %, 3 e ol orfie weem B0 W E 3
sy ‘Shfya oy w9 W 27
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67. ‘¥ weam ¥ e = wemrR fm we g 70. werarl iR wyE # sam-ven e /A

FR Tl /2 B?
1. @ % e

2. A H e 9

3. gl & TR =

3 g e F2 = WA = Ad T gR
(@) FaA 1

(b) FEEA 2 3R 3

(c) 133

(dy 1, 23R3

HdeA (IRS) 3! =1 WM e S 37
1. HHA Fit 3IYA F HFeH
o, oM W9 (UEEAl)  wEET

o - Fri
. gfw = s
4, TEER
5. JAEE FEd
f5 e M g w1 T = E T gy
(@) Fa€@ 1, 2 30 3
() FFH 4 3 5
c) a1 R 2

(d 1,2, 3,435
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72. Consider the following States :

2.

3.

Arunachal Pradesh

Himachal Pradesh

Mizoram

In which of the above States do ‘“Tropical
Wet Evergreen Forests’ occur?

(a)

{b)

{c)

(@

(al

(b)

fc)

(@)

26 www.jkchrome.com

1 only

2 and 3 only

1 and 3 only

1,2 and 3

73. The term IndARC’, sometimes seen in
the news, is the name of

an indigenously developed radar
system inducted into Indian
Defence

India's satellite to provide services
to the countries of Indian Ocean
Rim

a scientific establishment set up
by India in Antarctic region

India’s underwater observatory to
scientifically study the Arctic region

B-AQN-O-JUA/63A
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With
Partnership Facility’,
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‘Forest Carbon
which of the

reference to

following statements is/are correct?

1.

It is a globa! partnership of
governments, businesses, civil
society and indigenous pecples.

financial aid  to
universities, individual scientists
and institutions  invelved in
scientific forestry research to
develop eco-friendly and climate
adaptation technologies for
sustainable forest management.

It provides

It assists the countries in their
‘REDD+ [Reducing Emissions from
Deforestation and Forest
Degradationt)’ efforts by providing
them with financial and technical
assistance.

Select the correct answer using the code
given below.

fa)
fb)
{c)
{d)

1 only
2 and 3 only
1 and 3 only

1, 2 and 3

75. Which one of the iollowing was given
classical language status recently?

(a)
(b}
fc)
fel}

www.jkchrome.com

Odia
Konkani
Bhojpuri

Assamese
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72. et o=t w REw A
1. IROTEE TN
2. few=a ww
3. T

e Tl # @ e/ semrsiasd
AT g 2 A &7 :

, {a) Fa 1
(b) HaA 2 3 3
fc) ¥ad 133

[d) 1,23R3

73. =R-Fff ToErl T W 9w TR FeA
(IndARC)’ forasst am ®7

() ¥ wg § feafe, wda @ (fes)
# stfrgiig e foeem

(b) T wEETR fm & 39 A T AW ¢
¥g ¥Rd F IR

(c) W@ FU wwThiE &7 W W TH
EFIEC R IREE]

{d) FEE & F A|E SR ¥g WA
H  FxoldE  uTen (SEE
sffesaad)
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74, ‘T FEA WPiEH glawr (FRe FEA T
wfafar) ¥ wed ¥, fofafes # w
PH-T/8 FoT udll 7/37
1. I8 OOFW, Y99, AWE §E AR
oft o (e divew) f T At
rfie R

2. W& UMY (GRAETA) T YEUR g
wafer-stEen ($1-3eEh) SR ey
FgEed  (Fomi wRwwN) refife
GFass) & faem F fEg S
iR ey # o feafeemer, R
(sfefogeren) Amfel @w wened W
forefrg wEEE WEH wEd R

3. g Wi oA, I T A m-
e s w9 F0+ [(fegfm
i R dwiewm i Wi
feliRym+) (REDD+)] wam # fadfa
od FFAT el YgF W, HeE FAl B

= fou U F2 1 W AR EE I g
(@) F= 1
(b) Faw 2 3R 3
fc) ¥aw 133
(d) 1,233
75. 7@ @ § frafafas § ¥ fow o v =
e VT (FeATlee oee) W S (V)
fom mm 7
fa)
(b) HiEf
(c) *gh
fa) srafw
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76. With reference to an organization known
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as BirdLife International’, which of the
following statements is/are correct?

1. It is a Global Partnership of
Conservation Organizations.

2. The concept of ‘biodiversity
hotspots” originated from this
organization,

3. It identifies the sites known/
referred to as Tmportant Bird and
Biodiversity Areas’.

Select the correct answer using the code
given below,

{a) 1 only

{b) 2 and 3 only
fc) 1 and 3 only
{d 1,2 and 3

77. Which one of the following countries of

South-West Asia does not open out to
the Mediterranean Sea?

fa) Syria

(b) Jordan
fc) Lebanon
{d} Israel

78. In India, in which one of the following

types of forests is teak a dominant tree
species?

fa) Tropical moist deciduous forest
{b) Tropical rain forest
{cj Tropical thorn scrub forest

(d} Temperate forest with grasslands

B-AQN-O-JUA/63A
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79. ‘Beijing Declaration and Platform for

Action’, often seen in the news, is

(a) a strategy to tackle the regional
terrorism, an outcome of a meeting
of the Shanghai Cooperation
Organization

(b) a plan of action for sustainable
economic growth in the Asia-Pacific
Region, an outcome of the delibera-
tions of the Asia-Pacific Economic
Forum

fc} an agenda for women’s empower-
ment, an outcome of a World
Conference convened by the United
Nations

(d) a strategy to combat wildlife
trafficking, a declaration of the
East Asia Summit

80. “Each day is more or less the same, the

morning is clear and bright with a sea
breeze; as the Sun climbs high in the
sky, heat mounts up, dark clouds form,
then rain comes with thunder and
lightning. But rain is soon over.”

Which of the following regions is
described in the above passage?

fa} Savannah
(b) Equatorial
{c¢} Monsocon

{d) Mediterranean
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T e ¥ owed #, Pofafaw @ @

B/ FoE Ud /€

1. e g waA B frasrd i {

2. m faRum wiewie’ A wwea g
S | YE g

3. T ‘mHemqd udt W = R &
(w2 Tz sewaiiR duw) %
w # yra/ffEE e A vwmE s R

Hi= fiw e 2 = R e I Ry
() FaE 1

(b) Ha= 2 3t 3

{c) s 133

d 1,23M3

77. <dgm-ulih ofim = FefiRee § & $R-w
T 3 ATERIR 7 Yo il 27

fa) i BO.
(b} SEA
¢} @R

(d) TR

78, urd ¥, Pefafea § @ fee o 39-wew 3,
. qria (H) TF wwet 3 wdiefi 27

(a) IorEREE o wwiaTd =
(b) IS Al @
(o) IoTHZEYT el T @
(d) TERYTYE A a9
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76. ‘9S9¥% EONAE (BirdLife International) 79. 9: THSE 4 3 I aweh e een ik

FRa 79 (it fereem G wieE Wi
Fam)'ﬁw%i%ﬁﬁéw%?

(@) &fta aware § Faed ) s
(W), vord weam wied (3
HAEA AvfEeI) f d9F =
qftemH

(b} URE-wET &3 A yRelE et w9ts
H & FE-AeE, - i
g qﬁm-&ﬁaﬁﬁmﬁmqﬂm) *
fomm -fomet =) v afom

(c) wieen TEERCT ¥ T hEEH, WY
Mg g SN faw @R W T
gforTs

(dj I A= F goatan (@fefE) 1 Amum
&g FrAfa, gET ohim et a9 (R
ofimn \fe) $i & seEen

‘g R wiEn wew @ A} g, T

e WEA % WY, % iR IWe B R
S-S g AW § FR Fea A g, T
ggdl W ?, T WRS 994 @ & 3R
TEdl @ T 3 faeel € 9w Wy
B ol ¥ Sfe el wie @ wm @ ol
217

I Iem § Frafafaa aef 8 9 frm afa
fopar wn B7

fa) @&

(b) Togac
(c) g

(d) EEARTTE
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81. With reference to Indian economy, 83. “To uphold and protect the Sovereignty,

consider the following statements :

1. The rate of growth of Real Gross
Domestic Product has steadily
increased in the last decade.

2. The Gross Domestic Product at
market prices (in rupees) has
steadily increased in the last
decade.

Unity and Integrity of India” is a
provision made in the

faj Preamble of the Constitution
(b} Directive Principles of State Policy
{c) Fundamental Rights

{d) Fundamental Duties

B4. Which one of the following is the best

Which of the statements given above
is/are correct?

e 1 only
{b) 2 only
{c) Both 1 and 2

fd} Neither 1 nor 2

82, Consider the following statements :

India can be larger in size than half
of the Legislative Assembly of that
particular State.

2. The Governor of a State nominates
the Chairman of Legislative Council
of that particular State.

Which of the statements given above
is/are correct?

{fa) 1 only
{b) 2 only
{¢/ Both 1 and 2

{d} Neither 1 nor 2
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description of the term ‘ecosystem'?

fa) A community of organisms
interacting with one another

{b) That part of the Earth which is
inhabited by living organisms

fc} A community of organisms together
with the environment in which
they live

{d) The flora and fauna of a
geographical area

1. The Legislative Council of a State in 85. The fundamental object of Panchayati

Raj system is to ensure which among
the following?

1. People’s participation in
development

2. Political accountability
3. Democratic decentralization

4, Financial mobilization

Select the correct answer using the code
given below.

{a) 1, 2 and 3 only
{b) 2 and 4 only
fc/ 1 and 3 only
{d 1,2, 3 and 4
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81. WA e & wed #, Frfafan st 83. “‘wmd ) Wy, ww@ AR ImEEd A @ w
’ w forEm Hif 3 3 oo w1 ww Iy fred B
1. Tod evw § amafas @R T IR #
# 9fe -t ear aed w R () wfaaE $ 2R
2. fioe Tos # a@n i @ (T #) -
T U] IUTE TR a5 @ 2 () T A b
T el W -/ T R/ v
_m !
(d) T FdA
(a) FFE 1 _
' 84. Peffen § & FH-w o, wiws (efeen)’
TaierE gui 37
(b Faw 2 A 3
' @) THIR ¥ NG FA AR S
) 1323 (iR F1 T T
(b) Y= w TE AT S wela ShE (fafem
() AT 1IMAE 2 aihifaera) g smentaa 2
(c) &l (=i w1 ggem o wy @
I8 yoteare fored 3 wa #
82. Frafafes wui w fa=m Hit ) T dmifas & % wwfaem e
1. wra # feeh Tsa B Rum oy SR BULEIES
# 39 wea H A= w0 F ol ¥ At
- A = R 85. THWdl TW e w1 U W F gHiRE
2. frdt wsm w1 T 38 TN e Excildt
uiteg ¥ wurafy = ameEiE @ R 1. frwm § s=-aried
0. UsHfos EE
) 4. T dmen (weifirre i)
fa) a9 1 R
= fog e g2 =1 wam | wd I gRw
(b) a2 @) ¥ 1, 2 33
(b} Fad 2 3l 4
{c) 13w 2=
fc) Fa@ 1 3R 3
(@) T 1smadt2 [d) 1,2, 334
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86. With reference to Indian economy,
consider the following :

1. Bank rate

2. Open market operations
3. Public debt

4. Public revenue

Which of the above is/are component/
components of Monetary Policy?

{aj 1 only

{b) 2, 3 and 4
f¢f 1 and 2
{d) 1,3 and 4

87. With reference to inflation in India, which

of the following statements is correct?

{aj Controlling the inflation in India is
the responsibility of the Government
of India only

{b) The Reserve Bank of India has no
role in controlling the inflation

{c) Decreased money circulation helps
in controlling the inflation

{d} Increased money circulation helps
in controlling the inflation

88. Consider the following countries :

1. China

2. France
3. India

4, Israel

5. Pakistan

Which among the above are Nuclear
Weapons States as recognized by the
Treaty on the Non-Proliferation of
Nuclear Weapons, commonly known as
Nuclear Non-Proliferation Treaty (NPT)?

faj 1 and 2 only

{6} 1, 3, 4 and 5 only

fc) 2,4 and 5 only

fd 1,2, 3,4and 5

B-AQN-O-JUA/63A
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89. The ideal of ‘Welfare State’ in the Indian

Constitution is enshrined in its

(a) Preamble

(b} Directive Principles of State Policy
e} Fundamental Rights

{d} Seventh Schedule

90. The substitution of steel for wooden

ploughs in agricultural production is an
example of

{a) labour-augmenting technological
progress

(b} capital-augmenting technological
progress

fc) capital-reducing technological
progress

(d) None of the above

91. There is a Parliamentary System of

Government in India because the

{a) Lok Sabha is elected directly by the
people

(b} Parliament can amend the
Constitution

(c) Rajya Sabha cannot be dissolved

{d} Council of Ministers is responsible
to the Lok Sabha
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86. 9d9 Adagarn & w=y ¥, Pefafas w
o iR
1. ¢
2. Gefl IR FHiars (U Arhe. AT
3. o = (ufed 2we)
4. o g (ufeers 19)
Igw § A BA-w/A OEE A w/F 9o
B/87
(a) Fa4 1
(b) 2, 334
' (c) 132
(d) 1,334
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TR 1 TSR 3
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1§ i 7 B

() T2 T3 R whEed (Wi wgEE),
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. ifREA
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89. WA % HEgH ¥ ‘FeuawEnl TS & HEd
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(o) Sefrw
(b) T=a F A F TR o
fc) WA AER
(d) aet aaggs
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BIn

(b) U wem Tl MrenfE W
(c) sft we et Yenfieba wifa

(d) IE A A 7§ T
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Bt B
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92. H1IN1 virus is sometimes mentioned in 95. With reference to ‘fuel cells’ in which

the news with reference to which one of
the following diseases?

fa) AIDS
{b) Bird flu
{c) Dengue

fd}) Swine flu

93. With reference to bio-toilets used by the
Indian Railways, consider the following
statements :

1. The decomposition of human waste
in the bio-toilets is initiated by a
fungal inoculum.

2. Ammonia and water vapour are
the only end products in this
decomposition which are released
into the atmosphere.

Which of the statements given above
is/are correct?

(d) Neither 1 nor 2

94. The problem of international liquidity is
related to the non-availability of

{a} goods and services
{b) gold and silver
{c} dollars and other hard currencies

{d) exportable surplus

B-AQN-O-JUA/63A 34
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hydrogen-rich fuel and oxygen are used
to generate electricity, consider the
following statements :

1. If pure hydrogen is used as a fuel,
the fuel cell emits heat and water
as by-products.

2.  Fuel cells can be used for powering
buildings and not for small devices

like laptop computers,

3. Fuel cells produce electricity in the
form of Alternating Current {AC).

Which of the statements given above
is/are correct?

{aj 1 only
{b} 2 and 3 only

fe} 1 and 3 only

faj 1 only {d} 1,2 and 3
) 2 only
fc¢) Both 1 and 2 96. Kalamkari painting refers to

{a) a hand-painted cotton textile in
South India

(b} a handmade drawing on bambao
handicrafts in North-East India

fc} a block-painted woollen cloth in
Western Himalayan region of India

(d) a hand-painted decorative silk
cloth in North-Western India
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97. Which one of the following best describes

the main objective of ‘Seed Village.

Concept™?

{a) Encouraging the farmers to use
their own farm seeds and
discouraging them to buy the seeds
from others

(b} Involving the farmers for training
in quality seed production and
thereby to make available quality
seeds to others at appropriate time
and affordable cost

fc¢) Earmarking some villages
exclusively for the production of
certified seeds

{d} Identifying the entrepreneurs in
vilages and providing them
technology and finance to set up
seed companies

98. There has been a persistent deficit
budget year after year. Which of the
following actions can be taken by the
government to reduce the deficit?

1. Reducing revenue expenditure
2. Introducing new welfare schemes
3. Rationalizing subsidies

4, Expanding industries

Select the correct answer using the code
given below.

fa} 1 and 3 only
(b} 2 and 3 only
fci 1 only

(d) 1,2, 3 and 4

B-AQN-O-JUA/63A
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99, Which of the following has/have been
accorded  ‘Geographical Indication’
status?

1. Banaras Brocades and Sarees

2. Rajasthani Daal-Bati-Churma

3. Tirupathi Laddu

Select the correct answer using the code
given below.

fa) 1 only
b} 2 and 3 only
{c) 1 and 3 only

(d 1,2 and 3

100. With reference to the Indian Renewable
Energy Development Agency Limited
(IREDA), which of the following
statements is/are correct?

1. It is a Public Limited Government
Company.

2. It is a Non-Banking Financial
Company.

Select the correct answer using the code
given below.

{fa) 1 only
(b} 2 only
fc} Both 1 and 2

{d) Neither 1 nor 2
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series A Subject GENE:A:;SRT_L:D'ES
Maximum Marks 200 No. of items 100
e f lterr;ict;:; Tk dor 100 No. of items dropped NIL
1 c | 8 |31 |cle|B 611D T c |91 | D
1 A | 17| 8 | 32| c |4 |cl|®]|B |7 B | 92| D
2 | 5 | 18| A 3|8 4| B[83}C 78| A | 9| D
2 LA | 19| clsa|c|aelal|®]|C 79| c | 94| C
= | 5 | 20| 0 |3 | B [80]C |6 |8 go | B | 95| A
s o | 21| D |3 | D5t A8} g1 | B | 9| A
1T cl|la2| clae|Aals|D]|67]|0D g2 | o | 97| B
1T 5 25| o | | D|5ss|B|68)|A|8|D}% A
s | 5 | 22| 8 | sg| D |54]| B |69} A g4 | c | 99| C
ol A l25| cla| B |55|8B|70)PD g5 | ¢ | 100]| ¢
7l c || 0|4 |8 || D]7]|A 86 | C | 7
Sl el 8 |4«|0|s|B|72]C]|F C
sl Al 28| 8 |43|A|s8]|C|™]|PD 88 | A
w1l s | 29| c |4 | D59 A|T4]|C 89 | B
e | A |20 | D |4 | C|e0]C|]A 0 | B
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series B Subject GENEP%LESRT_L:DES
Maximum Marks 200 No. of items 100
Bk B lten;i::i:: taken for 100 No. of items dropped NIL
1 C 16 D 31 D 46 D 61 D 76 A 91 B
2 B 17 D 32 C 47 C 62 A 77 D 92 D
3 A 18 D 33 B 48 G | 63 D 78 B 93 A
4 C 19 C 34 B 49 B 64 D 79 B 94 A
5 B 20 A 35 | A 50 C 65 B 80 B 95 D
6 B 21 A 36 C 51 D 66 B 81 D 9% | A
7 D 22 B 37 B |.52 B 67 D 82 B 97 Cc
8 D 23 A 38 A 53 B 68 A 83 C 98 D
9 C 24 C 39 B 54 ] 69 D 84 A 99 C
10 CcC | 25 C 40 A 55 D 70 C 85 C 100 A
mlc|2)c|a4|B|jc|7|B|8]D |
12 C 27 A 42 B 57 C 72 C 87 B
13 A 28 B 43 A 58 B | 73 B 88 Cc
14 B 29 A 44 (¢ 59 C 74 A 89 C
16 B 30 B 45 D 60 B 75 C 90 B
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series C Subject GENii’:l'EzTL:D'ES
Maximum Marks 200 No. of items 100

il of Itetiot?inbge (e o 100 No. of items dropped NIL
1 Al | B3| B |4 | A]|s61]c |7l 91 | B
2 Dl17 ] D |32 |D 4|8 |6fB|77]s 92 | D
3 Bl1®|A|3|D|[4]| A |6 Aa]l7s] 8 93 | A
t Bl Al c|alc]eal |79]c| o D
5 Bl12 | D3| c|[s5]|c|e]| als ]| b 95 | C
6 Dl2t| Al | c|st|c| 6] B ]| 81| o 9% | B
7 Bl ] c 37| c|s2]| A 67|88 97 | C
8 C| 28| D |38 (|/A |53 B |[6] A e B 98 | B
9 Al24] C |39 | B 54| A|e] c|asas] o 9 | A
0jc|25| Al B 5|87/ D] s B | 100]| C
M| D|26| c|a| D] s6] b 711 D |8 | D
121 B2 | B |4 | D |57 c|72] c| s A
81 C 28| A | 43| D [5]|8B|73] c| ss D
Wl Cl 2| cCc|44|c 5] B]|74] 8] 89 D
9B |8 | B[4 | Afle| a|75]c|olas
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 20156
Series D Subject GENEP}Zﬁ,LéitL:DIES
Maximum Marks 200 No. of items 100
No. of lten;zéznb: akeen far 100 No. of items dropped NIL
1 D 16 B 31 D 46 A 61 C 76 C 91 B
2 B 17 D 32 B 47 C 62 C 77 A 92 B
3 B 18 A 33 C 48 D 63 A 78 B 93 A
4 C 19 D 34 A 49 C | 64 B 79 A 94 ]
5 D 20 C 35 C 50 A 65 B 80 B 95 D
6 C 21 B 36 D 51 C 66 D 81 D 96 D
7 C 22 C 37 B -52 B 67 D 82 C 97 Cc
8 B 23 B.| 38 C 53 A 68 D 83 B 98 c
9 C 24 A 39 C 54 C 69 C | 84 B 99 B
10 B 25 C 40 B 55 B 70 A 85 A 100 C
11 D 26 A 41 B 56 B 71 A 86 C
12 A 27 D 42 D 57 D. 72 B 87 B
13 D-| 28 B 43 A 58 D | 73 A 88 A
14 |'D | 20| B |4 | A |5 |cC|74|cC|8]|B
15, B 30 B 45 D 60 C 75 C 90 A
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series A Subject GENE:A:;SRT_L:D'ES
Maximum Marks 200 No. of items 100
e f lterr;ict;:; Tk dor 100 No. of items dropped NIL
1 c | 8 |31 |cle|B 611D T c |91 | D
1 A | 17| 8 | 32| c |4 |cl|®]|B |7 B | 92| D
2 | 5 | 18| A 3|8 4| B[83}C 78| A | 9| D
2 LA | 19| clsa|c|aelal|®]|C 79| c | 94| C
= | 5 | 20| 0 |3 | B [80]C |6 |8 go | B | 95| A
s o | 21| D |3 | D5t A8} g1 | B | 9| A
1T cl|la2| clae|Aals|D]|67]|0D g2 | o | 97| B
1T 5 25| o | | D|5ss|B|68)|A|8|D}% A
s | 5 | 22| 8 | sg| D |54]| B |69} A g4 | c | 99| C
ol A l25| cla| B |55|8B|70)PD g5 | ¢ | 100]| ¢
7l c || 0|4 |8 || D]7]|A 86 | C | 7
Sl el 8 |4«|0|s|B|72]C]|F C
sl Al 28| 8 |43|A|s8]|C|™]|PD 88 | A
w1l s | 29| c |4 | D59 A|T4]|C 89 | B
e | A |20 | D |4 | C|e0]C|]A 0 | B
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series B Subject GENEP%LESRT_L:DES
Maximum Marks 200 No. of items 100
Bk B lten;i::i:: taken for 100 No. of items dropped NIL
1 C 16 D 31 D 46 D 61 D 76 A 91 B
2 B 17 D 32 C 47 C 62 A 77 D 92 D
3 A 18 D 33 B 48 G | 63 D 78 B 93 A
4 C 19 C 34 B 49 B 64 D 79 B 94 A
5 B 20 A 35 | A 50 C 65 B 80 B 95 D
6 B 21 A 36 C 51 D 66 B 81 D 9% | A
7 D 22 B 37 B |.52 B 67 D 82 B 97 Cc
8 D 23 A 38 A 53 B 68 A 83 C 98 D
9 C 24 C 39 B 54 ] 69 D 84 A 99 C
10 CcC | 25 C 40 A 55 D 70 C 85 C 100 A
mlc|2)c|a4|B|jc|7|B|8]D |
12 C 27 A 42 B 57 C 72 C 87 B
13 A 28 B 43 A 58 B | 73 B 88 Cc
14 B 29 A 44 (¢ 59 C 74 A 89 C
16 B 30 B 45 D 60 B 75 C 90 B
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series C Subject GENii’:l'EzTL:D'ES
Maximum Marks 200 No. of items 100

il of Itetiot?inbge (e o 100 No. of items dropped NIL
1 Al | B3| B |4 | A]|s61]c |7l 91 | B
2 Dl17 ] D |32 |D 4|8 |6fB|77]s 92 | D
3 Bl1®|A|3|D|[4]| A |6 Aa]l7s] 8 93 | A
t Bl Al c|alc]eal |79]c| o D
5 Bl12 | D3| c|[s5]|c|e]| als ]| b 95 | C
6 Dl2t| Al | c|st|c| 6] B ]| 81| o 9% | B
7 Bl ] c 37| c|s2]| A 67|88 97 | C
8 C| 28| D |38 (|/A |53 B |[6] A e B 98 | B
9 Al24] C |39 | B 54| A|e] c|asas] o 9 | A
0jc|25| Al B 5|87/ D] s B | 100]| C
M| D|26| c|a| D] s6] b 711 D |8 | D
121 B2 | B |4 | D |57 c|72] c| s A
81 C 28| A | 43| D [5]|8B|73] c| ss D
Wl Cl 2| cCc|44|c 5] B]|74] 8] 89 D
9B |8 | B[4 | Afle| a|75]c|olas
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Examination CIVIL SERVICES (PRELIMINARY) EXAM. 20156
Series D Subject GENEP}Zﬁ,LéitL:DIES
Maximum Marks 200 No. of items 100
No. of lten;zéznb: akeen far 100 No. of items dropped NIL
1 D 16 B 31 D 46 A 61 C 76 C 91 B
2 B 17 D 32 B 47 C 62 C 77 A 92 B
3 B 18 A 33 C 48 D 63 A 78 B 93 A
4 C 19 D 34 A 49 C | 64 B 79 A 94 ]
5 D 20 C 35 C 50 A 65 B 80 B 95 D
6 C 21 B 36 D 51 C 66 D 81 D 96 D
7 C 22 C 37 B -52 B 67 D 82 C 97 Cc
8 B 23 B.| 38 C 53 A 68 D 83 B 98 c
9 C 24 A 39 C 54 C 69 C | 84 B 99 B
10 B 25 C 40 B 55 B 70 A 85 A 100 C
11 D 26 A 41 B 56 B 71 A 86 C
12 A 27 D 42 D 57 D. 72 B 87 B
13 D-| 28 B 43 A 58 D | 73 A 88 A
14 |'D | 20| B |4 | A |5 |cC|74|cC|8]|B
15, B 30 B 45 D 60 C 75 C 90 A
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